	Of course you will not proceed here unless you have managed to get through all my pages describing the week and the month. You start with the week (from a to c), then go on with the month in a similar way, and after that you will be prepared for the year.
The Maya Indians had a sacred year covering 260 days. Nobody seems to know exactly why (Coe, Ifrah). But I think I have a natural explanation: They tried their best to discover The General Theory of Everything, i.e. how Time-Space was constructed. There are 26 double-weeks in a year and therefore 260 is a reasonable attempt to harmonize the sacred periods of Week and Year.

Double-weeks (instead of single weeks) were - I believe - also used in order to harmonize: If the world is constructed so that we need to count two Moon cycles, then we probably had better count two sacred Weeks also.

(Watching planets is done in the night, not during the day. Therefore the word 'fortnight'. Polynesians do not count days, they count nights.) 

The calendar in Small Santiago Tablet is - I suspect - also built on double-weeks, and with 26 such we reach 364. In all there are 31 partitions in this tablet, but 3 of them, in the beginning, seem to be special and perhaps are 'outside' of the sacred Year. 

And in partition no. 31 we can read that 26 is The Number. I therefore guess that partition no. 31 too is on the outside of the sacred Year.

Partition no. 30 is a special case, because after passing 364 nights there still remains 1 night.


The first three partitions have parallels.
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For the succeeding 31 - 3 = 28 partitions the only certain parallels I have discovered so far are in the text of London Tablet. 

The investigation of this presumed calendar of the Sacred Year will start from here. At first, though, you should read the comments which can be reached via hyperlinks in partitions nos. 15, 30 and 31 below.

In contrast to the calendars of the week and the  month - which obviously are such calendars - the text cited here from Small Santiago Tablet is less obviously a calendar and the investigation must therefore proceed with slow careful movements in order not to go astray.
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Ideas:
1. These two glyphs does show the fact that the year should be regarded as divided in two parts, each containing six months. 

2. If we compare this with the similar glyph in Wednesday (as seen in Large Santiago Tablet) 
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where there are four wedge-shaped internal markings, I guess the common 'denominator' is the Moon. The Moon, I think, is the Giver of Time. Therefore with other time periods there is a need to 'translate' into the fundamental time period. 

M / W = 4 and HY / M = 6.  
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Idea:
This important type of glyph with V-shaped internal signs seems to refer to number of revolutions.

Four V-signs in Wednesday (the middle of the week) perhaps is meant to show that you will pass Wednesday four times before the month is through.
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Ideas:
1. Given that the left part of this glyph is to be regarded as a 'counter of times', then we can read: 'five times'.

2. The right part of this glyph has a sign with three upward-turned wedge-shapes on top of each other. This I think (and also Barthel as I can remember) shows 'darkness', i.e. I read: 'five times in darkness' or something like that. 

3. One way is to count 30 * 12 = 360 and find that 5 nights are missing. These 5 nights could then be regarded as outside the sacred year (like the Egyptians of old did).

4. Another possibility - which I believe more probable - is to count 31 * 12 = 372, which gives 7 nights too many. We can reduce this difference by 5 and reach 367. In row nos. 1 and 3 we can then find the 2 missing 'dark nights'. They can be seen as 'fishes in the dark':
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	Row no. 30 

If we think in terms of fortnight periods, then we need 26 such to reach as near as possible to a year. 26 * 14 = 364.

I guess that we should disregard the three rows in the beginning (nos. 1-3) because they seem special, e.g. they have parallels in other tablets and may therefore be a description of new year festivities or something like that. 31 - 3 = 28.

And in a similar manner I would like to discard row no. 31 as a special period. 28 - 1 = 27.

Assuming these things, we will find that row no. 30 must contain the missing night, the night which is needed in order to reach 365. The number of the rows nos. 4-29 is 26.


	Row no. 31 

Here we can count 5 + 16 + 5 = 26, a way to give the reader a sign:
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Sum
26
 


	Investigation of the text in Small Santiago Tablet 

We start our investigation with partition no. 31:


	31
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	Here we can count 5 + 16 + 5 = 26, a way to give the reader a sign. This sign I guess means that we should think of 26 periods of 14 days (or rather fortnights). There are 5 feathers or similar on top of the head, 16 around the circumference in the next glyph and 5 is the number of the 'twig' in the last glyph. 

If the meaning is to have a calendar with 26 * 14 = 364 nights, then why not have only 26 partitions? (I will call the partitions 'periods' from now on, even if some such 'periods' perhaps not are periods of time.) Answer to the question: To create a calendar of the year is no trivial matter. Such a calendar must be complex if the goal is to reach a result in aharmony with the movements of all the heavenly bodies.

The Egyptians, for example, decided to use 30 * 12 = 360 days for a year. The 5 extras to reach the true movement of the Sun (or rather the Earth) were considered to be outside the orderly world of the Sacred Calendar. Disorder could not be totally abolished, but it could be pushed outside. Period no. 31 is also outside The Sacred Year (I belive). But before we continue, I think it is necessary to make two excursions: to the statue Pachamama now in the center of La Paz in Colombia and to the famous old Phaistos-disc from Crete.

Pachamama
Phaistos-disc
next page (to visit after Pachamama and the Phaistos-disc)
home



	Pachamama 

This fantastic statue, now standing in La Paz, the capital of the modern state of Bolivia, is covered all over with inscriptions. 'Pacha' means time/space and 'mama' seems to mean Earth Mother, and these inscriptions (see next page) are documenting the important facts of life.
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Notice that the right leg (left as seen from the statue) is 'summer' and the left leg 'winter'. In ancient times they could manage with two seasons. And right step first is a rule north of the equator only.

The word 'summer' is related to the Sanskrit word 'sáma' = half-year.
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	Posnansky has shown that the people who created this statue knew a lot about astronomy. They had discovered that 'summer' (= the time between spring and autumn equinox) was shorter than 'winter' (= the time between autumn and spring equinox). 

The orbit of the earth around the sun is not a circle but an ellips and north of the equator 'summer' is longer (at present) than 'winter', while the opposite rule governs the seasons south of the equator. Consulting my almanac for 2004 I find that 'summer' has 186 days, while 'winter' has 180 days. The exact period varies between the years because the calendar counts in whole days.

The slow wobble of the earth's axis makes the cross move, the cross which is written by drawing one straight line between the solstices and another between the equinoxes. This movement was known by ancient peoples.

In spite of the knowledge of the year's true length (ca 365,25 days) the people by the lake of Titicaca decided to use a Sacred Year with only 354 days. That is the result I arrive at after having analyzed the skirt around Pachamama. All the sun-signs are visible, at least partly. None is totally obliterated.

Posnansky, though, arrived at 364 days, a number I cannot endorse. I can see 94 ('winter') + 83 ('summer') = 177 double sun-signs on the skirt, and 2 * 177 = 354. Furthermore: the visual harmony of the skirt cannot tolerate as many as 364.

The skirt is shown on next page.
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	"... the equinoctial 'points' - and therefore, the solstitial ones, too - do not remain forever where they should in order to make celestial goings-on easier to understand, namely, at the same spot with respect to the sphere of the fixed stars. Instead, they stubbornly move along the ecliptic in the opposite direction to the yearly course of the sun, that is, against the 'right' sequence of the zodiacal signs (Taurus→Aries→Pisces, instead of Pisces→Aries→Taurus). 

This phenomenon is called the Precession of the Equinoxes, and it was conceived as causing the rise and the cataclysmic fall of ages of the world. Its cause is a bad habit of the axis of our globe, which turns around in the manner of a spinning top, its tip being in the center of our small earth-ball, whence our earth axis, prolonged to the celestial North Pole, describes a circle around the North Pole of the ecliptic, the true 'center' of the planetary system, the radius of this circle being of the same magnitude as the obliquity of the ecliptic with respect to the equator: 23 ½o. The time which this prolonged axis needs to circumscribe the ecliptical North Pole is roughly 26,000 years, during which period it points to one star after another: around 3000 B.C. the Pole star was alpha Draconis; at the time of the Greeks it was beta Ursae Minoris; for the time being it is alpha Ursae Minoris; in A.D. 14,000 it will be Vega. The equinoxes, the points of intersection of ecliptic and equator, swinging from the spinning axis of the earth, move with the same speed of 26,000 years along the ecliptic.

The sun's position among the constellations at the vernal equinox was the pointer that indicated the 'hours' of the precessional cycle - very long hours indeed, the equinoctial sun occupying each zodiacal constellation for about 2,200 years. The constellation that rose in the east just before the sun (that is, rose heliacally) marked the 'place' where the sun rested. At this time it was known as the sun's 'carrier', and as the main 'pillar' of the sky, the vernal equinoxes being recognized as the fiducial point of the 'system', determining the first degree of the sun's yearly circle, and the first day of the year. (When we say, it was 'recognized', we mean that it was spelled 'carrier' or 'pillar', and the like: it must be kept in mind that we are dealing with a specific terminology, and not with vague and primitively rude 'beliefs'.) At Time Zero (say, 5000 B.C. - there are reasons for this approximate date), the sun was in Gemini; it moved ever so slowly from Gemini into Taurus, then Aries, then Pisces, which it still occupies and will for some centuries more. The advent of Christ the Fish marks our age. It was hailed by Virgil, shortly before Anno Domini: 'a new great order of centuries is now being born...' which earned Virgil the strange title of prophet of Christianity. The preceding age, that of Aries, had been heralded by Moses coming down from Mount Sinai as 'two-horned', that is, crowned with the Ram's horns, while his flock disobediently insisted upon dancing around the 'Golden Calf' that was, rather, a 'Golden Bull', Taurus." (Hamlet's Mill)


	The reason why they chose 354 instead of 365 (or 360 as in the Egyptian year) is - I believe - the attempt to create a 'map' which could harmonize the movements of the sun with that of the moon. 

The primary time giver, the Moon, has a double-period of 59 nights. Therefore the best result for the Year must be 354 nights. Because 59 * 6 = 354.

Six double-months would then cover the year and there would be three double-months for each of the two seasons, 'summer' and 'winter'.

Of course this way of thinking also explains why there are signs showing double-suns in the skirt: Two seasons in the year, two moon-circuits in 59 nights, two weeks in a fortnight and two days in a doubleday that is what Mother Nature (Mama) tells us.

On next page you can see in the pattern of her tresses the same message, this time 2 * 7 = 14.
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I have no doubt that here is expressed data collected from observing the moon. The 'wedges' (full moon?) are ca 400 and the space between them is variable.

With 400 moons we get 200 * 59 = 11 800 nights, i.e. 1/3 of 100 years consisting of 354 nights. Should we think of the 'wedges' as representing double-moon periods, then we would get 23 600 nights or 2/3 of 100 years. Were the 'wedges' triple double-moon periods, we would get 200 * 354 = 70 800 nights. 200 years is a suitable period to get fairly reliable results. 

I am sure that these data concern the moon because we see them in the tresses of a woman's hair. The Moon was often called Hina in Polynesia, the name of a woman.
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	"There are other traces of an ancient year of ten months. The Marquesans, for example, termed a year of ten lunar months one puni or 'round'. Puni was the name for year in Easter Island.

According to the ancient history of Kanalu some Hawaiian tribes assigned fourteen months to the year, or hookahi puni ma eha malama, one puni consisting of ten months plus four odd months.

A year of ten lunar months cannot be explained on astronomical grounds and it is difficult to see how it could have been reconciled with the solar year of the seasons.

The statement that in some parts of India a three-year period was divided into four parts of ten lunar months each only adds to the confusion since ten lunar months equal 295 days and four such periods contatin 1 180 days, whereas three calendrical years of 365 days amount to only 1 095 days." (Makemson)

400 moons = 200 * 59 = 11 800 nights (see last page) is very similar to the Indian year with 4 * 10 * 29.5 = 1 180 days. 


	We cannot here pursue this line of discussion any longer, there are immense amounts of potential data incised on Pachamama. And the main points needed for the calendar of the year in Small Santiago Tablet have been covered, I hope. 

Notice, though, that in the top-most row of double-suns in the skirt there are 30 signs. If there are 30 nights (at least half of the times) in the circuit of the Moon, then it seems right to think that there are 30 periods in the circuit of the Sun (at least half of the times). 

Why should there be 12 periods in the year? Answer: because my watch has 12 on it. 

But in the same way as 12 * 30 = 360 = the Egyptian Sacred Year, it would not be stupid to think that 354 should be divided into 30. Then we get 11.8 days (which resembles the 11 800 nights in the tresses of Pachamama and the 1 180 days in the old Indian year). 

I guess they solved this problem (not reaching a whole number) by dispersing the sun-signs on the skirt and at the same time to illustrate vertically how the amount of daylight varies over the year as shown by the number of double-sun signs, a graphic picture long before Descartes.

the skirt
previous page
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	Phaistos Disc 

This disc, made of stone and covered with undeciphered glyphs, seems to be a calender of some sort. (Source: Diringer.)
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	One side of the disc has been divided into 30 and the other into 31 compartments. This suggests that the moon is not the subject. Because then we would expect 29 and 30.

Possibly the structure with 29 + 30 = 59 (which as - I believe - also was in the minds of those who created Pachamama) has been adjusted to fit the sun by increasing with one unit in both terms to get 30 + 31 = 61. Structures live longer than their contents.

If we count 6 * 61 we reach 366, i.e. just one day too many to reach the yearly period of the sun (which also of course has other periods - like the day). 

But there are ways to avoid this minor problem. 
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	At the outer perimeter we find on one of the sides something that looks like a string with 5 knots. The other side also has such a sign, but with 4 knots. 

Knots are used all over the world as a memory aid. I think it is meant that we should use the information shown by 5 respectively 4 knots.

Could the meaning be that we should count 4 * 31 + 5 * 30 = 124 + 150 = 274?

In my own solar calendar for 2004 I can count 7 * 31 + 4 * 30 + 1 * 29 = 217 + 120 + 29 = 366, which is OK because 2004 was a leap year.

In an ordinary year we need to increase 274 in the Phaistos disc with 91 to reach 365. There seems to be one quarter missing. I think one possible explanation is that at that early date they did not regard the year as having two seasons (or four as we do). Instead they regarded the missing quarter as outside their sacred year. Perhaps the weather during one quarter of the year made agriculture and fishing impossible.

The Roman calendar before Julius Ceasar seems to have had ten months only. Otherwise, why should December, the last month of the year, be called like that? The latin word 'decem' means 10.
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	But the Phaistos disc has - generally seen - on one side glyphs different in character from those on the other side. 

This perhaps indicates that one of the sides is meant for one season and the other for another season. Probably, therefore, there were two seasons and not one. This is a reasonable way of seeing it for the periods of the moon also have twos in it, Waxing and Waning Moon (and 29 and 30).

Their Sacred Year could have had two parts, one covering 4 * 31 = 124 days and the other 5 * 30 = 150 days. Nine months make me think about the time it takes for a baby to be born after conception.

Which of our modern months could they have meant? They lived north of the equator and that suggests the period from vernal to autumn equinox. But that period covers only 6 months. I think they also included the months of autumn and regarded winter as outside their sacred year.
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	The eccentricity of the Earth's orbit makes not only the periods of summer and winter unequal in length but also the periods of 'spring' and 'autumn'. 

Earth is at its closest to the sun in the beginning of January and the distance is largest in the beginning of July. Therefore the period between the equinoxes that contain January is shorter than the rest of the year (i.e. the period between autumn and spring equionox in the northern hemisphere). Shorter distance to the sun means greater gravity force and that gives more speed. More speed in January makes the dark period of the year shorter when you live north of the equator and longer if you live south of the equator.

But try to imagine the effects if you divide the year into 4 parts, not only dark and light but also the periods in between, spring and autumn. If the axis of the Earth had pointed so that winter solstice also was located at the beginning of January, then there would have been no difference in length between the periods of 'spring' and 'autumn'.

What exactly do I mean with 'spring' and 'autumn' and how long are these periods? Let me explain on next page.
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	place of sun
	day no.
	'winter'
	'spring'
	'summer'
	'autumn'

	 

	winter solstice
	356
	 

	 

	 

	 


	2001
	spring equinox
	79
	89 days
	 

	 

	 


	 

	summer solstice
	172
	 

	93 days
	 

	 


	 

	autumn equinox
	266
	 

	 

	94 days
	 


	 

	winter solstice
	355
	 

	 

	 

	89 days

	2002
	spring equinox
	79
	89 days
	 

	 

	 


	 

	summer solstice
	172
	 

	93 days
	 

	 


	 

	autumn equinox
	266
	 

	 

	94 days
	 


	 

	winter solstice
	356
	 

	 

	 

	90 days

	2003
	spring equinox
	80
	89 days
	 

	 

	 


	 

	summer solstice
	172
	 

	92 days
	 

	 


	 

	autumn equinox
	266
	 

	 

	94 days
	 


	 

	winter solstice
	356
	 

	 

	 

	90 days

	2004
	spring equinox
	80
	89 days
	 

	 

	 


	 

	summer solstice
	173
	 

	93 days
	 

	 


	 

	autumn equinox
	266
	 

	 

	93 days
	 


	 

	winter solstice
	356
	 

	 

	 

	90 days


	My alamacs for the previous four years give the information above. But we must remember that these almanacs are made for use in the northern hemisphere. Otherwise we would have to change 'spring' into 'autumn' and 'autumn' into 'spring'. Easter Island is on the other side of the equator and we must remember this when trying to understand the rongorongo calendars.




	When was the Phaistos disc made? Probably about 1700 BC they say. We must also remember the effects of the precession of the equinoxes. 

26000 years correspond to 360o and that corresponds approximately to 360 days.

Winter solstice in 1700 BC can be calculated from this and the fact that it is situated on 21st of December in the year 2004. The precession has moved winter solstice (and the rest of the cardinal points) against the yearly course of the sun.

(2004 + 1700) / 26000 * 360 = 51 days.

When the Phaistos disc was made the cardinal points were located 51 days later than they are today. E.g. was winter solstice not in December but in the beginning of February.

The rongorongo tablets perhaps were written some 150 years ago. That means we should think about a similar correction with 2 days.  
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	We will not go any further in this technical discussion. 

But another piece of observation: There are 45 different signs in the Phaistos Disc. (I do not count the two special signs, the 'strings with knots' and a sign looking like /.)

If we divide 360 with 2, 3 or 4 we reach the whole numbers 180, 120 and 90. We can also divide with 5 and 6 reaching 72 and 60.

7, though, does not work. But with 8 we get 45. I think the Polynesians had reasons to divide the horizon into 8 parts. With 16 - the next natural division - you get 22.5 which is unacceptable. Only whole numbers are natural and understandable.

45 degrees therefore ought to be important enough to be seen somewhere in the rongorongo texts. Which means that we should look for 45 days in the yearly calendar. Days and degrees are equivalent if you disregard periods shorter than what corresponds to division with 8. 
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	I suspect that the Phaistos disc should be read from the center out, the way a spider works constructing its net. 

And I also suspect that the Phaistos disc has signs connected with constellations of stars, like a zodiac.

The calendar of the year is a very complex matter. We should think of 14-day-periods, 59-day-periods, the solar course of 365 1/4 days, the eqinoxes and the solstices, and we must also consider the stars.

The stellar time is more stable than the time we get from the moon or the sun. The Maya indians had calculated the moon's period to an incredible exactness and they must have used the stars for this purpose.

According to Coe the people of Copán had calculated that 149 moons were equal to 4400 days. This gives 29.53020 days for one moon which is only 33 seconds off our measurements in the modern western civilization.

But now we must return to Small Santiago Tablet.

back to Santiago
previous page
home



	"The Road of the Spider, which is also referred to in Hawaiian literature as ala-kuukuu, suggests the path by which the Sun spirals north to the June solstice, rising higher and higher each day in the sky of the northern hemisphere, and thence south to the equinox and the December solstice attaining a lower altitude each day, i.e., a combination of its daily and yearly motions.
 
The symbolism is not difficult to perceive if one visualizes the motion of the Sun as continuous from day to day." (Makemson)
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	This is the first of the 26 periods, each covering a fortnight, which I guess measures out the solar year up to the last night, no. 365, or up to the last two nights when we have a leap year. 

My guess that this is the beginning of a solar calendar is based on what I read in the first two glyphs:.

I read a period of six solar months and I read the reunion of the Sun Bird with his Summer Wife.
As these two glyphs are essential for the further analysis you will find more data concerning the solar months and the Summer Wife via the hyperlinks below. Please read there before continuing with the next page! 

Via the hyperlink "26" you will alternatively reach a page where I have tried to make a preliminary description of the solar year, based on the assumption of 26 periods of fortnights and that the cardinal points (eqinoxes and solstices) are described in the calendar.
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	Solar months 

If we are to make a structure where the solar months of the year are grouped in pairs, similar to the way we must group together months in two in order to reach a whole number (59), then it seems reasonable to start by assuming that two solar months equals 61 days.

Six such 61-day-periods amounts to 366 days or one day too much. This problem could be solved for example by letting the last double-month have 60 days, but that is not a beautiful solution.

In our own almanac we can imagine 4 double-months with 30 + 31 = 61 days: March+April, May+June, August+September, October+November. July then does not fit in, having 31 days in spite of also August having 31 days. And we can see the same pattern in December, having 31 days in spite of January also having 31 days. February is a special case with only 28 days (in an ordinary year).

I believe the explanation for February is an attempt to coordinate our calendar with the four cardinal points (equinoxes and solstices). These give the following restrictions:
'winter'
'spring'
'summer'
'autumn'
89 days
93 days
94 days
90 days
'summer'
'autumn'
'winter'
'spring'
Though then we reach 366 instead of 365. As the seasons must be mirrored when we are south of the equator I have added the south version below. In the north hemisphere 'winter' is the shortest season, which in a way explains the length of February.


	"Hamiora Pio once spoke as follows to the writer: 'Friend! Let me tell of the offspring of Tangaroa-akiukiu, whose two daughters were Hine-raumati (the Summer Maid - personified form of summer) and Hine-takurua (the Winter Maid - personification of winter), both of whom where taken to wife by the sun." 

"Now, these women had different homes. Hine-takurua lived with her elder Tangaroa (a sea being - origin and personified form of fish). Her labours were connected with Tangaroa - that is, with fish. Hine-raumati dwelt on land, where she cultivated food products, and attended to the taking of game and forest products, all such things connected with Tane."

(Best)

"The Sun spends part of the year with the Winter Maid in the south, afar out on the ocean. In the month of June occurs the changing of the Sun and he slowly returns to his other wife, to the Summer Maid who dwells on land and whose other name is Aroaro-a-manu. This period we call summer. And so acts the Sun in all the years.

The child of the Summer Maid was Hikohiko. The old folk have told me [Hamiora Pio, a learned Maori] that at the time of the winter solstice the wise men of yore would say 'The Sun is returning to land to dwell with the Summer Maid.'

The word south in the first sentence should read north in order to make the statement consistent with the actual situation in the latitude of New Zealand. The myth had apparently been brought intact from an ancient habitat in the northern hemisphere."

(Makemson)
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	1 winter solstice
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	95 spring equinox
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	185 summer solstice
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	274 autumn equinox

	24 281-294
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	27 323-336
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	28 337-350
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	29 351-364
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	30 365-378
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	367 Winter solstice
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	II am not satisfied with my preliminary 26-period-calendar. The cardinal points seem to be placed too early. The location of spring equinox (day no. 95) is in period 10 instead of in period 8 or 9 (where I see glyphs showing light). And summer solstice (day no. 185) is in period 17 instead of in period 15 - see above -  where there are glyphs showing midpoint). But autumn equinox seems fairly well located, although it perhaps should be placed in period 22 instead of in period 23; there is a 'tired old bird' in period 22.. 

This evidence makes it very clear that I have guessed wrong. The periods are too long. I therefore must make a new map. Instead of 26 * 14 = 364 days I will make a map where the periods are 13 nights long. That gives more periods, and 364 / 13 = 28.

With 28 periods the solar year necessarily must start already in row no. 2 instead of in row no. 4. 

28 is the difference between 14 and 13 during 28 periods and I therefore have to increase the number of periods with exactly 28 / 14 = 2. The results of the new map are shown via the hyperlink "28".
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	MONDAY 

This is Monday:

[image: image327.jpg]



[image: image328.jpg]



[image: image329.jpg]



[image: image330.jpg]



[image: image331.jpg]



[image: image332.jpg]



[image: image333.jpg]



[image: image334.jpg]



The idea of a structure showing birth etc can also be seen in the glyphs for this day. 

Glyph nos. 2-3 and 4-5 I think show the two phases of Waxing and Waning Moon. I am fairly certain and therefore suggest this. Not only an idea. For glyph no. 7 I have the idea that it might show the phase of New Moon, i.e. the moon is not visible at all. 

Where is the Full Moon? I guess that phase very well can be illustrated in glyph no. 6. Evidently we can see the shape of the moon with an additonal triangular sign in the middle. This sign maybe shows the turnover from Waxing to Waning Moon which occurs at the time of the full moon. 

The last glyph, no. 8, I guess may be translated e.g. as marama or tea, words used to denote light colour. That could be a comment on the usefulness of the moon as giving light when it is dark. 

If all these loose threads of mine are correct, then the text for Monday is divided into four parts: 1. The introduction of the ruler of the day. 2. The two phases of Waxing and Waning Moon. 3. The two phases of Full and New Moon. 4. A final emphasis on the white colour of the moon.
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Idea:
This important type of glyph with V-shaped internal signs seems to refer to number of revolutions.

Four V-signs in Wednesday (the middle of the week) perhaps is meant to show that you will pass Wednesday four times before the month is through.
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Ideas:
This type of glyph probably shows the same kind of bird as
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but with its body seen sideways and showing a state of low energy (sleep or similar), perhaps best expressed as 'quite finished'.

There is a suitable Polynesian word for such a dozy state of mind: moe.
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	1 winter solstice

	3  14-26
	[image: image342.jpg]



	[image: image343.jpg]



	[image: image344.jpg]



	[image: image345.jpg]



	[image: image346.jpg]



	[image: image347.jpg]



	[image: image348.jpg]



	 


	4  27-39
	[image: image349.jpg]



	[image: image350.jpg]



	[image: image351.jpg]



	 

	 

	 

	 

	 


	5 40-52
	[image: image352.jpg]



	[image: image353.jpg]



	 

	 

	 

	 

	 

	 


	6 53-65
	[image: image354.jpg]



	[image: image355.jpg]



	[image: image356.jpg]



	 

	 

	 

	 

	 


	7 66-78
	[image: image357.jpg]



	[image: image358.jpg]



	[image: image359.jpg]



	[image: image360.jpg]



	 

	 

	 

	 


	8 79-91
	[image: image361.jpg]



	[image: image362.jpg]



	 

	 

	 

	 

	 

	 


	9 92-104
	[image: image363.jpg]



	[image: image364.jpg]



	 

	 

	 

	 

	 

	95 spring equinox

	10 105-117
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	185 summer solstice
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	274 autumn equinox
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	After changing from 14 * 26 = 364 to 13 * 28 = 364 the calendar looks better. But even now all the cardinal points seem to arrive one period too late in the 'map'. 

I think this means that 13 * 28 is correct, but that we need to start the year already with row no. 1. Which is the natural way to do it, of course. Stupid to think otherwise.

Rewriting the 'map' to start with row no. 1 makes period no. 18 (see above) come three periods later than the period (no. 15) in which (I suspect) is summer solstice is located. This is quite similar to when we in period no. 4 find the Sun Bird with his Summer Wife, i.e. not at Winter Solstice but three periods later. 

And the 4th glyph above is similar to the 1st glyph in period no. 4.

I will also shorten the period from autumn equinox to midwinter solstice with one day in order to end the year with day no. 365. (The earlier maps were ending with day no. 366, which originated from my almanac for 2004.)
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	95 spring equinox

	9 105-117
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	185 summer solstice
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	274 autumn equinox
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	366 Winter solstice

	30 
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	The Maya Indians' sacred year covering 260 days perhaps should be interpreted as 13 * 20? The idea of having periods with 13 days - as for instance in Small Santiago Tablet - combined with the number 20 (which is the sum of fingers and toes) should result in something. 

And there is a kind of logic with 13 days instead of 14, because evidently the double-moon period is constructed as 29 + 30 = 59. Periods should have an odd extra day or night. This logic leads to considering alternating odd and even periods, e.g. 29 / 30, 13 / 14 or - beginning with an even number: 6 / 7, 30 / 31. 

Perhaps we can see this kind of thinking in the spines of the pair of creatures in Monday. And in the 3rd glyph below from the moon calendar. And in the 4th glyph below from the solar calendar.
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	THE YEAR  

My investigation of this text in Small Santiago Tablet has by now, I think, gone far enough to make it obvious that the text covers the yearly cycle of the sun. It is a calendar for the year.
The ideas from the calendars of the week and of the month have successfully been used in trying to understand this calendar of the year. In spite of the three calendars being written on three separat tablets, it is obvious that there is a common usage of the rongorongo signs. 
Therefore, it can with conficence be said that the carved signs on the rongorongo objects represent a system of writing.
Whether all of the signs in this system of writing are connected to concepts only or if some of them are used to indicate how to pronounce is, though, as yet unclear.


	MEANING 

Much time and effort was used in order to establish a frame of reference (via Pachamama and the Phaistos Disc) for how a calendar of the year might look like.

And then time and effort was also necessary to calibrate the periods which may have been used in the text of Small Santiago Tablet. The initial assumption of 26 periods containing 14 days each (= 364 days) had to be abandoned and instead an assumption of 28 periods containing 13 days each (= 364 days) seems to be the only possible solution to the problem. (Given that the number of days in each period is constant.) 

As in the calendars for the week and for the cycle of the moon it is probably useful to make comments on at least some of the glyphs. Some of these may be wrong, but I think many of them will be appropriate 'readings'.

Some of the hyperlinks giving access to comments are new, i.e. has not been seen earlier.
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1 winter solstice

	2  14-26
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	3  27-39
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	4 40-52
	

	

	[image: image602.jpg]



	 

	 

	 

	 

	 


	5 53-65
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	7 79-91
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	8 92-104
	

	[image: image613.jpg]



	 

	 

	 

	 

	 

	95 spring equinox

	9 105-117
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	11 131-143
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	13 157-169
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	14 170-182
	[image: image627.jpg]



	[image: image628.jpg]



	[image: image629.jpg]



	 

	 

	 

	 

	 


	15 183-194
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	185 summer solstice

	16 195-207
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	17 208-220
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	18 221-233
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	19 234-246
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	20 247-259
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	21 260-272
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	22 273-285
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	274 autumn equinox

	23 286-298
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	24 299-311
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	25 312-324
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	26 325-337
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	27 338-350
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	28 351-363
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	29 364-376
	[image: image691.jpg]



	[image: image692.jpg]



	[image: image693.jpg]



	 

	 

	 

	 

	366 Winter solstice

	30 
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	31
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Ideas:
1. I think this type of glyph indicates a period of six solar months.

2. It is shown by three double-months, similar to the method used in Pachamama's skirt. But instead of two concentric circles we have one circle divided in two for each such double-month.

3. The location in rows nos. 4 and 18 of two identical glyphs of this type is a kind of affirmation of these ideas. 18 - 4 = 14, i.e. half of the total 28 periods to cover 364 days. 14 * 13 = 182.

4. According to my almanacs 'winter' + 'spring' =  94 + 90 = 184 days (south of the equator). 

Considering that period no. 4 covers days nos. 40 - 52, we can calculate: 40 + 184 = 224 and 52 + 184 = 236. As period no. 18 is defined (in my preliminary 'map') to contain days nos. 221-233, we get an idea of where in time these six-month period start and end.


	[image: image705.jpg]HEEE) O
6 OeEEEIOEERE
0e0eEPEPLEEOOEIO
s
@©@ OH|EE





Notice that the right leg (left as seen from the statue) is 'summer' and the left leg 'winter'. In ancient times they could manage with two seasons. And right step first is a rule north of the equator only.

The word 'summer' is related to the Sanskrit word 'sáma' = half-year.
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	Solar months 

If we are to make a structure where the solar months of the year are grouped in pairs, similar to the way we must group together months in two in order to reach a whole number (59), then it seems reasonable to start by assuming that two solar months equals 61 days.

Six such 61-day-periods amounts to 366 days or one day too much. This problem could be solved for example by letting the last double-month have 60 days, but that is not a beautiful solution.

In our own almanac we can imagine 4 double-months with 30 + 31 = 61 days: March+April, May+June, August+September, October+November. July then does not fit in, having 31 days in spite of also August having 31 days. And we can see the same pattern in December, having 31 days in spite of January also having 31 days. February is a special case with only 28 days (in an ordinary year).

I believe the explanation for February is an attempt to coordinate our calendar with the four cardinal points (equinoxes and solstices). These give the following restrictions:

'winter'
'spring'
'summer'
'autumn'
89 days
93 days
94 days
90 days
'summer'
'autumn'
'winter'
'spring'
Though then we reach 366 instead of 365. As the seasons must be mirrored when we are south of the equator I have added the south version below. In the north hemisphere 'winter' is the shortest season, which in a way explains the length of February.


	 

	place of sun
	day no.
	'winter'
	'spring'
	'summer'
	'autumn'

	 

	winter solstice
	356
	 

	 

	 

	 


	2001
	spring equinox
	79
	89 days
	 

	 

	 


	 

	summer solstice
	172
	 

	93 days
	 

	 


	 

	autumn equinox
	266
	 

	 

	94 days
	 


	 

	winter solstice
	355
	 

	 

	 

	89 days

	2002
	spring equinox
	79
	89 days
	 

	 

	 


	 

	summer solstice
	172
	 

	93 days
	 

	 


	 

	autumn equinox
	266
	 

	 

	94 days
	 


	 

	winter solstice
	356
	 

	 

	 

	90 days

	2003
	spring equinox
	80
	89 days
	 

	 

	 


	 

	summer solstice
	172
	 

	92 days
	 

	 


	 

	autumn equinox
	266
	 

	 

	94 days
	 


	 

	winter solstice
	356
	 

	 

	 

	90 days

	2004
	spring equinox
	80
	89 days
	 

	 

	 


	 

	summer solstice
	173
	 

	93 days
	 

	 


	 

	autumn equinox
	266
	 

	 

	93 days
	 


	 

	winter solstice
	356
	 

	 

	 

	90 days


	My alamacs for the previous four years give the information above. But we must remember that these almanacs are made for use in the northern hemisphere. Otherwise we would have to change 'spring' into 'autumn' and 'autumn' into 'spring'. Easter Island is on the other side of the equator and we must remember this when trying to understand the rongorongo calendars.
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Ideas:
1. This type of glyph shows two young birds kissing.

2. I guess that their youth is shown by the shapes of their beaks, not with a hook at the tip like the adult birds have.

3. I think this type of glyph was used for the reunion of the Sun Bird with his Summer Wife.

4. Possibly this reunion is connected with a specific point in time, after winter solstice but before spring equinox.


	"Hamiora Pio once spoke as follows to the writer: 'Friend! Let me tell of the offspring of Tangaroa-akiukiu, whose two daughters were Hine-raumati (the Summer Maid - personified form of summer) and Hine-takurua (the Winter Maid - personification of winter), both of whom where taken to wife by the sun." 

"Now, these women had different homes. Hine-takurua lived with her elder Tangaroa (a sea being - origin and personified form of fish). Her labours were connected with Tangaroa - that is, with fish. Hine-raumati dwelt on land, where she cultivated food products, and attended to the taking of game and forest products, all such things connected with Tane."

(Best)

"The Sun spends part of the year with the Winter Maid in the south, afar out on the ocean. In the month of June occurs the changing of the Sun and he slowly returns to his other wife, to the Summer Maid who dwells on land and whose other name is Aroaro-a-manu. This period we call summer. And so acts the Sun in all the years.

The child of the Summer Maid was Hikohiko. The old folk have told me [Hamiora Pio, a learned Maori] that at the time of the winter solstice the wise men of yore would say 'The Sun is returning to land to dwell with the Summer Maid.'

The word south in the first sentence should read north in order to make the statement consistent with the actual situation in the latitude of New Zealand. The myth had apparently been brought intact from an ancient habitat in the northern hemisphere."

(Makemson)
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Ideas:
1. To the left we can recognize a sign which I guess means 'light'.

2. To the right we can recognize a sign which I guess means 'spear of power' or something similar, an instrument for the ruling power.

3. In the middle we can see an raised arm with an open hand. This could mean the act of 'taking' (as in taking command).

4. All together these three signs probably is telling something like this: 'the light is taking over' (from the dark), an appropriate description of spring equinox.

	MONDAY 

This is Monday:
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The idea of a structure showing birth etc can also be seen in the glyphs for this day. 

Glyph nos. 2-3 and 4-5 I think show the two phases of Waxing and Waning Moon. I am fairly certain and therefore suggest this. Not only an idea. For glyph no. 7 I have the idea that it might show the phase of New Moon, i.e. the moon is not visible at all. 

Where is the Full Moon? I guess that phase very well can be illustrated in glyph no. 6. Evidently we can see the shape of the moon with an additonal triangular sign in the middle. This sign maybe shows the turnover from Waxing to Waning Moon which occurs at the time of the full moon. 

The last glyph, no. 8, I guess may be translated e.g. as marama or tea, words used to denote light colour. That could be a comment on the usefulness of the moon as giving light when it is dark. 

If all these loose threads of mine are correct, then the text for Monday is divided into four parts: 1. The introduction of the ruler of the day. 2. The two phases of Waxing and Waning Moon. 3. The two phases of Full and New Moon. 4. A final emphasis on the white colour of the moon.
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Suggestion:
My granchild Clara, soon to become three years old, suggested that the right part of this glyph is showing a knife. 

I think she is right in a way, because according to the Chaldean astrologers each of the seven 'planets' rules one day of the week. And a ruler must have a way to enforce, e.g. a knife.

Whether the instrument in question is a knife, a spear, a stick or a staff symbolizing power, is of secondary importance. 

What is important is the idea that in the beginning of each row showing glyphs for a certain day there ought to be signs indicating the ruler of the day, the officer in charge.
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Ideas:
1. To the left we can recognize the instrument of the ruling power, probably (see in the middle) light.

2. The sign to the right is, I guess, a young plant, not yet mature enough to bear fruit.

3. Perhaps this glyph, therefore, sends the message: 'the power of light makes plants grow'?
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Ideas:
1. These two glyphs does show the fact that the year should be regarded as divided in two parts, each containing six months. 

2. If we compare this with the similar glyph in Wednesday (as seen in Large Santiago Tablet) 
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where there are four wedge-shaped internal markings, I guess the common 'denominator' is the Moon. The Moon, I think, is the Giver of Time. Therefore with other time periods there is a need to 'translate' into the fundamental time period. 

M / W = 4 and HY / M = 6.
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Idea:
This important type of glyph with V-shaped internal signs seems to refer to number of revolutions.

Four V-signs in Wednesday (the middle of the week) perhaps is meant to show that you will pass Wednesday four times before the month is through.
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Ideas:
1. This is the sign of  'the tired old bird'.

2. The glyph is localized, it seems, at the time of autumn equinox. Perhaps that means it is intended to show that the power of the Sun has gone.

3. If so, then I think we have here a parallel to the meaning of this type of glyph in Sunday. In the daily cycle of the sun 'the tired old bird' presumably represents the time of sunset, in the yearly cycle of the sun 'the tired old bird' presumably represents the time of autumn equinox. Both these times are exactly defined and both implies change from light to dark.

4. So perhaps 'the tired old bird' always should be seen as the declining aspect of the Sun?
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Ideas:
1. This glyph type, which I think of as 'the tired old bird', is a contrast to the straight standing splendid bird in showing much variability in its form and probably not all these variations are due to the writer having attatched signs. Therefore I believe that the bird with hanging head is not directly referring to the Sun God (or to any other Great Power).

2. The great variability in appearance of the old bird makes it difficult to distinguish what is a sign and what is just a normal variation for this type of glyph. However, I think (after having made a special study of this type of glyph in Large St Petersburg Tablet) that there is a sign in this glyph, a sign in the form of showing the tail feathers. (Possibly there is also a sign in the form of an unusually tight bend of the neck.) The old bird here in Sunday is - I think - an indirect reference to the Sun God.

3. Why are there four glyphs in one text but only two in the other? One possible answer is to say that two glyphs corresponding to Ra (or rather its equivalent in the Rapanui language, Ra'a) and tapu are found in both tablets and that the additional two glyphs in Large Santiago are referring to the Sun before and at noon, in which case we can associate the sun-boat with dawn and the old bird with sunset.  
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Ideas:
1. Given that the left part of this glyph is to be regarded as a 'counter of times', then we can read: 'five times'.

2. The right part of this glyph has a sign with three upward-turned wedge-shapes on top of each other. This I think (and also Barthel as I can remember) shows 'darkness', i.e. I read: 'five times in darkness' or something like that. 

3. One way is to count 30 * 12 = 360 and find that 5 nights are missing. These 5 nights could then be regarded as outside the sacred year (like the Egyptians of old did).

4. Another possibility - which I believe more probable - is to count 31 * 12 = 372, which gives 7 nights too many. We can reduce this difference by 5 and reach 367. In row nos. 1 and 3 we can then find the 2 missing 'dark nights'. They can be seen as 'fishes in the dark':
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Ideas:
1. These two glyphs does show the fact that the year should be regarded as divided in two parts, each containing six months. 

2. If we compare this with the similar glyph in Wednesday (as seen in Large Santiago Tablet) 
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where there are four wedge-shaped internal markings, I guess the common 'denominator' is the Moon. The Moon, I think, is the Giver of Time. Therefore with other time periods there is a need to 'translate' into the fundamental time period. 

M / W = 4 and HY / M = 6.
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Ideas:
1. This glyph, in period no. 31,  is not identical with the earlier two (in the 4th and 18th periods of the calendar). We can compare the three glyphs:
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The third glyph, that in period no. 31, has a prominent bulge to the left in the sign for the double-month at the bottom. What does this mean? It must be a sign.

2. That the first two (in the 4th and 8th periods) are identical possibly means that there is no intention of the writer to distinguish in these two glyphs between the first and the second half of the year. Another possible explanation is that both these two represent the first half of the year, and that the second half of the year is described in the third glyph. A comparison with similar glyphs in the rest of the text in Small Santiago Tablet shows that the writer is consistently writing two variants.

	Different variants in the Small Santiago text of glyphs for the solar half-year 

1. There are two variants used in the solar calendar.                 

2. The text on the side of the tablet which contains the solar calendar, does not contain this type of glyph before the calendar. The text after the solar calendar contains 6 examples, while the other side of the tablet contains 2:
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3. I think that the 6 glyphs arriving after the calendar are easy to classify into the two variants; the 2nd and 3rd (in the first row above) belonging to one and the rest to the other. However, of the two glyphs on the opposite side of the tablet (see second row), the first is a third variant. (While the 2nd of the glyphs is one of the two variants also found in the calendar).


	TRANSLATION 

At this stage it is too early for any attempt at translating this text in Small Santiago Tablet (which, though, I presume is a calendar covering the year).

A few general remarks may, however, be useful:

1. There are not many glyphs in the three here presented calendars (week, month, year) which recur often. Consequently we may rule out the possibility that the glyphs are components of an alphabet (either as 'letters' or as signs corresponding to syllables). 

Alphabetic signs might on the other hand perhaps be there anyhow, as small signs of different types e.g. those often hanging under an elbow. But such signs are not frequent enough to carry much information.

2. What could we expect to read in a calendar? Take as an example my almanac for 2004. I can find notes about where the cardinal points are. Spring equinox, Midsummer, Autumn equinox and Midwinter are there. But I cannot read anything about their meaning. I don't need that.  In Sweden, e.g., Midsummer is an important holiday and all the memories and events connected with that date arrive in my mind as soon as Midsummer is mentioned. Consequently we cannot expect more than short notes - not really texts - in any calendar.

3. Presumably, therefore, the reader of a rongorongo text must be capable of recreating the meanings connected with the texts (at least those parts which are in calendars).

In the Mayan book Popol Vuh there is described two ways in which the text may be read: First of all just to refresh the memory about some detail (similar to when I look in my almanac to locate an important date) and secondly to recreate the whole system in which the events are embedded - a reading which will take very long time.


	"When the ancient readers of Popol Vuh took the roles of diviners and astronomers, seeking the proper date for a ceremony or a momentous political act, we may guess that they looked up specific passages, pondered their meanings, and rendered an opinion. 

But the authors of the alphabetic [version of] Popol Vuh tell us that there were also occasions on which readers offered 'a long performance and account' whose subject was the lighting of the whole kajulew or 'sky-earth', which is the Quiché way of saying 'world'.

If a divinatory reading or pondering was a way of recovering the depth of vision enjoyed by the first four humans, a long performance, in which readers may well have covered every major subject in the entire book, was a way of recovering the full cosmic sweep of that vision."

(Popol Vuh)
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